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e Please write down the Serial Number of the question before
attempting it.
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(i)
(i)
(i)

- (iv)

awft w97 ST & 1

59 Y99-97 # 34 I97 § & 9% @uel — 37, &, yaﬁra#%ﬂrﬁ‘ra?f

G 3 ¥ gn- 3% a1 8 Y, ) ag-fAned yeT & 1 @ve 75 6 37 8
ford @ g% 2 mw?/@vgwﬁwmm—mm%?/@vga#
10 377 & 574 & 5% 4 37% #1 8 |

 FTFEAR HT I AT 8

General Instructions :

@)
(ii)

(tii)

(iv)

All questions are compulsory.

The question paper consists of 34 questwns divided into four sections —A,
B, Cand D. «

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains

10 questions of 4 marks each.

Use of calculators is not permitted.
g A
SECTION A -

¥¥T G 1 §8 T JF T 1 HF FE | T G 178 § IAF Fe F forg w”
fawey RT Mg 8 1574 8 3ae7 v a8l & | adl fawey 3T / o
Question numbers 1 to 8 carry 1 mark each. For each of the question numbers

1 to 8, four alternative choices. have been provzded of which only one is correct.
Select the correct choice.

1.

30/3

@amﬁgaABcﬁ, 2 BEushol §; BC = 12 4ft a1 AB = 5 ¥t ? |
va B 3 siarfa eif g gw A e (30 ¥) 2 |

@A) 4
® 3
© 2
o 1
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In a right triangle.ABC, right-angled at B, BC = 12 cm and AB = 5 cm.
The radius of the circle inscribed in the triangle (in cm) is

A 4
B) 3
< 2
D) 1 |

2. wesdi 1,2,3, .., 15 & Tgeed @ wewn o T | T T den b 4w

@ =
®) 123 |
© 3
™ 3

The ‘probability' that a number selected at random from the numbers
1,2, 3, ..., 15 is a multiple of 4, is

@ 143 |
®B) -1-23
.'(C) %
s - 3 | | PTO.
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3. @ s=1 % yiER §, $H-3-FT TH ASH B I TR 8

@ g
® 3
© =

| In a family of 3 children, the probability of having at least one boy is

@ .
® 3 "
© 3
o 2

4. 1501 IR AR F R @, e W va@ﬁ@wmammaﬂw 30°
2 | R @ W F gl (A T R

A) 5043
| B) 1503
(© 15042
D 75

30/3 : 4
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The angle of depress‘ion of a car parked on the road from the top of a
150 m high tower is 30°. The distance of the car from the tower (in

metres) is
“(A) - 5043
(B) 15043
(€ 15042
D) 75

10ﬁtﬁﬁwéwﬁsﬁrwsﬁma;§mmm&am% | 58 St

Fla'rs‘(ﬁrﬁﬁ)%
A) 542
(B) 1042
5
(C) i
(D) 1043

A chord of a circle of radlus 10 cm subtends a right angle at its centre.

A)

- (B)
(O)

)

~* The length of the chord (in cm) is

542
102
5

‘\/5 .

1043 ,
5 . o P.T.O.
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‘ABCD@m%ﬁa%eﬁ:rsnﬁBM 0), C(4, 3)H9l'ID(O 3)%1%%

u Tt i T 2
@ 5

B 4.

(C)V 3

‘(D.) 25

KABCD is a rectangle whose three vertices are B(4, 0), C(4, 3) and D(0, 3).

The length of one of its dlagonals is

@A) 5

(B) 4
C) 3
D) 25

af k, 2k—1 A 2k + 1 T WEIR A & i shArTE g &, @ kb A B

A) 2
B) 3
€ -3

D 5
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If k,’ 9%k —1 and 2k + 1 are three consecutive terms of an AP, the

~value of kis

@ 2
7 ® 3
© -3
® 5

8. Eﬁgﬁwﬁgpmwmﬁwzﬁl%% |‘cﬁlﬁﬁ§3ﬁAWBmm
EwﬁgémﬁmW%@AB%l AAPBEmrrm% | :

(A) 30°
(B) 45°
©  60°
(D) 90‘; o

~ Two circles touch each other extei‘nélly at P. AB is a common tangent to
the circles touching them at A and B. The value of £ APB is

@  30°

- ®) 45°
©  60°
D)  90°

30/3 I T P.T.O.
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SECTION B

T &9 7 14 Wmm%z 3% & |

Question numbers 9 to 14 car}y 2 marks each.

9.

10.

11.

12.

30/3

'aﬁafﬁamﬁ@mamw lmﬁmwﬁﬁq%
@) oet W e Heand wmw o |

(i) M 9l TR IE FER H ATEA 5 7 )
Two different dice are tossed together. Find the probability

@d) that the number on each die is.even. -

(ii) - that the sum of numbers ‘appearing on the two dice is 5.

w&waﬁeaﬁﬁémw@qﬁméﬂw4&aﬁﬁtﬁ% ﬁmmw
eﬁﬁm | [n= zvﬁi%m ]
If the total surface area of a solid hemlsphere is 462 cm?, find its volume. 7

[ Take 7t = ——]

1013%999%@32@?5%@%?@%8@34?%8@%‘
i |

Find the number of natural numbers between 101 and 999 which are

divisible by both 2 and 5.

gt 1, %@'olamozaﬁaa?ﬁﬁwqﬁgmﬁ%@NABWCDﬁg

’quamz?ﬁ% lﬁgaﬁm% AB = CD.
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In Figure 1, common tangents AB and CD to the two circles with centres
0, and O, intersect at E. Prove that AB = CD. '

' ‘ Figure'l
13. @:wﬁa@ﬁgaABc fsad AB = AC B, %mﬁaa"fqua, BEIE]

1

'BC, CA T AB & sAw: fagail D, Eaqutws’fm% | forg ifsre 6

- BD=DCR 1
The incircle of an 1sosce1es triangle ABC, in which AB AC, touches the
sides BC, CA and AB at D, E and F respectively. Prove that BD =DC.

14. fguma aHisr px (x — 3)+9= oﬁpwagmmﬁﬁqﬁu@mm%
A B |
Find the value of p S0 that the quadratlc equation px (x ~ 3) + 9 = 0 has
equal roots. ,
Qs §
" SECTION C
T G 15 8.24 aaszza?a;m%3 SHEI
Questwn numbers 15 to 24 carry 3 marks each.

ol 2 #, O g 9 Q Wk g & Rl Brsund 21 df qen 42 A ¥
!I'EAAOB 60°%, aﬁmmmmmammaﬁrﬁm{n— 2@&@1

30/3 S 9 | - P.T.O.
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In Figure 2, two concentricvcirclesv with centre O, have radii 21 cm and

42 cm. If #~ AOB = 60°, find the area of the shaded region. [Use n = 272 I

16. 7ﬁtﬁgmmﬁm%q¢aﬁﬁmﬁﬁ@a%ﬁ-wrhwmw | oY
T T T AR T BRI | [ = 22 Fﬁﬁm

The largest possible sphere is éarved out of a wooden solid cube of side

7 cm. Find the volume of the wood left. [Use &t = 27?—]

17. 6 #t. aﬂﬁaﬂumﬁkr@ﬁ@m & a4 fh ufy o R e @ W @
%1 10fime @ =@ mwm@mwmmﬁaﬁ%m

8 Tt e Ut A v B ? |
Water in a canal, 6 m wide and 15 m deep, is flowing at a speed of

4 km/h. How much area will it irrigate in 10 mmutes if 8 cm of standing
water is needed for irrigation ? -

18. Tfd 3 #, ABCD w wuei %, R %ﬂ"-ﬁ?r 24-5 af [ B | zEE

AD || BC, £ DAB = 90°, AD = 10 @t @1 BC = 4ﬁn°félzr&ABEQ$rﬁ
Wa@m‘%ﬁwﬁmmwmwmum?mﬁm
D E A
‘ O
At

C B
| ST 3 | -

30/3 SRR 10
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In Figure 3, ABCD is a trapezium of area 24-5 sq. cm. In it, AD [l BC
ZDAB = 90° AD =10 cm and BC = 4 cm. If ABE is a quadrant of a circle,

~ find the area of the shaded region. [ Take n = ]

D | E A
. . . T
-
C B
Figure 3

19. agmgmamaﬁﬁmﬁ@ﬁﬁaﬁA@ —3)aﬁIB(—-2 7)Eﬁiﬁz«rﬁaﬁﬂ

- tErEre x-aw 9 fwihia g 2 | 39 favee fag & fcas o s il |

Find the ratio in which the line segment joining the points A(3, — 3) and .
B(—2, 7) is divided by x-axis. Also find the coordinates of the pomt of

division.

20, Fys e hIR, ﬁmﬁgmuﬁtﬁ 55@111621165@1&%@:{@
mﬁg—uwﬁmaﬁﬁq ﬁuﬁg’mq %ngﬁaaﬁwmgmaﬁaﬁ

—-u‘-ﬁiﬂl

Construct a triangle with sides 5 cm, 5-5 cm and 6-5 cm. Now .construct

another triangle, whose sides are —g times the corresponding sides of the

givenvtriangle.-
21. x&fmedfm:. .
| 16 315 k0 -1 B
, X ' ,
//
i Solve for x :
—1——6-—-1—'15 ; x#20, -1
X x+1

22, ‘qmm%ﬁ%wwﬁrmm 182 3 lw&waﬁ%%ﬁﬁwué

e w@HE1: 53;[3435(1'6% a}mp}aﬁmaﬁﬁm

* The sum of the first seven terms of an AP is 182 If its 4th and the 170

terms are in the ratio 1 : 5, find the AP.

(R

30/3 3 g 11
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23.

24.

60 #i. I=ht Tk fafcdn & Rrew & w #iAr & frew 7o 91 & SrEEa Hio
FHM: 45° 1 60° & | Hiar it J=d a Hfve | [V3 = 173 TR ] |
From the top of a 60 m high building, the angles of depressioi; of the top’

~and the bottom of a tower are 45° and 60° respectively. Find the height of

the tower. [ Take 3 _=.1-’73]

y.aamagﬁgpmﬁmah%ﬁ@ﬁ A(4, 8) T B(- 6, ﬁ)ﬁrwegw |
& | gl AP ot W i |

Find a ppmt P on the y-axis which is equidistant from the points A(4, 8)
and B(- 6, 6). Also find the distance AP. ‘

wUEy
SECTION D

Y97 G&IT 25 8 34 TF J9F T97 & 4 37‘«5—753')

Question numbers 25 to 34 carry 4 marks each.

25.

26.

30/3

s e, P o v w18 Bk ofy g 2, 24 fel wm %
wfiker I, aﬁ@m%waﬁaﬁaﬁmlmaﬁzﬁéﬁﬁlm

I =1 19 Hif |

A motorboat whose speed in still water is 18 km/h, takes, 1 hoqr more to
20 24 km upstream than to return downstream to the same spot. Find the
speed of the stream.

™
k) 4

%W%w%ﬁwﬁﬁgmmﬁ%@mﬁg%mﬁmﬁﬁwmm
GRS

Prove that the tangent at any point of a cucle is perpendicular to the
radius through the pomt of contact.

12

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



27.

28.

29.

-30.

30/3

7ﬁn°r3qm%zqaséamwa?h ﬁmﬁ@'@mﬁ% H 14 A = Aref
150mﬁ%ma@ﬁn§ﬁ%mﬁﬁm@n§ lmm%aﬁ-«rﬁ
et % wR H feat gig B8 |

150 spherical marbles, each of diameter 1-4 cm, are dropped in a
cylindrical vessel of diameter 7 cm containing some water, which are
completely immersed in water. Find the rise in the level of water in the

vessel.
wﬁvgw@a?hsz@% fssrh % PR &1 7, Freh Feng 24@141%

T e o S0 g R i Beard e 8 Wl qen 20 wf
?21uﬁsﬁaﬁa@waﬂqﬁ@mmaﬁquwmﬁﬁml

22?’&@]

A contamer open a_t the top, is in the form of a frustum of a cone of height -
24 cm with radii of its lower and upper circular ends as 8 cm and 20 cm

respectlvely Find the cost of milk Whlch can completely ﬁ]l the container

at the rate of T 21 per litre. [Use n'= ——]

Tirffafgas 1210143.@@3‘1@@3@%%/131@13?13%%
45° ® | Afg HR % Rret w o 0% weievs % S AR w1 g A SR
HIU 60° B, Wl EAEUE hi FeE Fr@ I | [V3 = 178 T |

The angle of elevation of the top of a tower at a distance of 120 m from a_
point A on the ground is 45° If the angle of elevation of the top of a
ﬂagstaff fixed at the top of the tower, at A i is 60° then find the height of
the ﬂagstaff [Use/3 =1 73] - :

@W%Eﬁﬁ&@@ﬂﬂ:ﬁ%%ﬁﬁm@%wéﬁtwﬁs ,
o w1 ol o | I e F TS IgU GRS wa o Hem F
TR % U U5 @R w1 ol e | aR feree 1@ 12 7 wand § @
Y% 1 % B ST &, 1 ST gR 9 T F Ie1 hi T 7 FIRA |
o 5 # fo e ) T R 9

13
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31,

32,

33.

30/3

In a school, students decided to plant trees in and around the school to

reduce air pollution. It was decided that the xiumbel;_gi'_tgees, that each

section of each class will plant, will be double of the class in which they

are studying. If there are 1 to 12 classes i in the school and each class has

?vo sections, find how many trees were planted by the students Which
lue is shown in this question ? ;

x%%@?ﬁ@ﬁm:
x4 + x-6 _ —1—9; x#5,7
x-5 x-7 3
Solve for x :
~

x——4+x—6 ~1~9;x#5,7“'
X—-5 x-7 3 :

I % i wEl — $¢ %1 <gen, WM, ST, SEWTE SN IH h e Wk
=l R el W R | T g @ argese O o Feren IR |
(a) %! = MiAshaT 3 fF T T UH T R ?
b A S fwa o 2, ok SR oTem @ W T F T e s
;auﬁmmﬁﬁqﬁﬁ@nmwwwmm%(mw
|

Five cards — the ten, jack, queen, king and ace of diamonds, are well
shuffled with their faces downwards One card is then plcked up at .
random

(a) . Whatis the probability that the drawn card is the queen ?

(b)  If-the queen is drawn and put aside, and a second card is drawn,
find the probablhty that the second card is (i) an ace (ii) a queen.

i

7fd A4, 2), B(7, 6) T C(1, 4) T By ABC & fid 2 qen AD 34 Bryst i

o uriede 7, @ fag Fife B, mf@mADﬁgaABCﬁmm
T & Py & fanfsa @t @ 1

If A4, 2), B(7, 6) and C(1, 4) are the vertices of a A ABC and AD is its
median, prove that the median AD d1v1des A ABC mto two triangles of
equal areas. _ ‘

14

—
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34.

30/3.

IPi 4 #, 4ﬁmﬁwméq$qa%uﬁﬁa@ﬁaaﬁcmm@m
w3 % W@rave BD 3t DC ! deEal wa: sﬁtﬁwséﬁr%lm
ABaﬂTACWHEﬁﬁﬂII

5 4
In Figure 4, a triangle ABC is drawn to mrcumscnbe a circle of radius -

4 cm, such that the segments BD and DC are of lengths 8 cm and 6 cm
respectively. Find the sides AB and AC. '

Figure 4

To
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